Accel. Geom/Alg. II Name Kﬂu F

Unit 5 Test Review Date Il Period
1. Consider the following functions.
[f(x)=6x—2 g(x) =3x h(x) =2*+3 p(x) =2
a. Determine (f + ¢)(x) b. Determine (f +h)(x)
( P d
1%~ 2 bx + 27 » |
c. Determine (g-f)(x) d. Determine (p-g)(x)
~Sx+ Q %
e. Determine (f:9)(2) f. Determine (i) x)
lp©O -
a-2
2. Given the following partial set of values of function evaluate the following.
x -1 0 1 2 3
fix) | 1 2 4 8 16
|_alx) -5 -3 -1 1 3

a. Determine f(1)-2-g(2) b. Determine (f + g)(2)
 — (21/’[) Q(ﬂ + 3(2)
= g g 1 =9
3. Given the following partial set of values of function evaluate the follow ng.
w ot
a. Determine f(4)+2-g(1) '
-3+ (2)(2)
= &
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4.

Consider the following functions.
&(x) =6x—2

g(x) = 3x h(x) =2*+3 p(x) = 2J
a. Determine (f o h)(1) b. Determine (g f)(2)
= Fn () NSNS
O e\ -
= 1O ( 'O
— A \) /’
B - g - 20
c. Determine (feg)(x) d. Determine (g e h)(x)
L(a &) 6 (\ ’/_\/\,\;
AN g
: ~ - = 3 / N ¥ + 3 b
= ;9 K E * )7 e~ |\ = ‘
= (8%~ 2 = 3.7+« 9
5. Given the following partial set of values of function evaluate the following.
x -1 0 1 2 3
fix) 1 2 4 8 16
| glx) =5 -3 =1 1 3
a. Determine (f°g)(2)
Cla(2)) =

b. Determine (g-° f)(0)
_D( V)
L

QL (o)) =

—
-—

Determine (f ¢ g)(0)

—

6. Given the following partial set of values of function evaluate the following.
a.

Q(@(GW
P (W)
-3

—
-_—

-—
-—
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7. The length of a rectangle can be described by the function f(x) =
6x — 2 and the width of the same rectangle can be described by g(x) =

2x+1

a. Determine (f-g)(x) and explain what it represents.
(o -2)( 2% +\)

T g Pwerion cepreses e ool Ty ‘

b. Determine an expression that represents the perimeter of the rectangle. O

®)

= 12y -4

Given: F(x) =10 - x2

a. f(h(x)

/ | Y
= _Q\(";\)-'r-

'-—I+y.1.2_

8. Simplify each composition completely.

X

Vas™ & Sn =~ B

-
S(Ax+1)

3
g(X)—T

2x+1

= \box = &~
h(X)=x-3
b, g(h(£() "
g(\o_y'?',g) = 9(7’\( Y,
= 3 =
Py g-x*

9.  Verify which of the following are inverses of one another by considering f ( g(x)) and g ( ¥ (x))

f(x)=4x
a X
8(")—2
Q:T_C\i\f". o ﬁ,f‘f“;
= 4(&) = Hx
0
= ¥ = ¥
Thaey Owe
nverges
x
= -3
C. f(x) 2
g(x)=2x+3
£ ’a!(y\\, %f;(:(x\)
= Swe3
—— 3

v
X

D R
)
W

[

nvexies

They are pot

f(x)=2x+1
b. =il
g(x)==-
Bl gF ()
i) e
X = X
e owe invereg
f(x)=2x"-1
d. x+1
g(x)=3=
£(40)) g ()

N
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10. Find the inverse relation.

6 4 Y
(x-2) b. g(x)= - 3 ‘
= —— . X) - | — _—
f(X) G 9 L 5_ 3 7 S-y ¥
(5 N 4 . 5] \ \ 3 i
\( E—J - ’? /E\’\/-g) M, - — ‘M‘ ) —\ = 7“_5__
(, —— > b & 2" /5‘{? / 2 g -
e (wvyay = N-2) 5'1 ) '_ﬁ_ o \/ = _';‘*"
| \ / ~ — \
[/ r-*—‘__'__‘"—‘ 5 | > 3
eIs(x+a 0 =Y =~ +5
11. The shoe size for the average U.S. teen or adult male can be modeled by the function M(x) = 3x-22
where x is the length of the foot in inches. _ > >
! . . X = 3y-22Z
a. Find the inverse of the function above
X xT2 _
—= =
b. Explain in words what the mverse function represents. ™
ThWe \nveve e l«-u_w(lnc’v\ vl ?J‘WL UOU s onre one’s e
\ength atven Yoo Shoe Tcize
12. Divide using long division.
a. (9x* + 30x3 — 15x — 9) + (x2 + 3x) b (3x3 —17x%2 4+ 21x + 25) + (x> — 2x - 3) "
\7_\, - »
a % 3)(‘01* » Z2x = \\+y -2x-
X % % 2 2
-2 K= 2 z f %
XJ—B\(*‘O 4\ _;_’-'Rr-\(g_; O« _\C‘ _9 /3 -7y 4+ 21y ri=y
0\ R iy Dv7' A

= 2 lox™ — 9x)
;}Z}; O, -\‘Sy
|

'}/&-30)( 25
s Ox) ~ (A t.22x+ 33 )
'9 = —;\/ _Q %X g

,/'— 47“ - D
|‘2_3( -Q

|
13. Divide using synthetic division.

a. (x*—9x3 +16x*+8x+18) =+ (x — 6)

b. (7x* —6x*+6x—5)+(x+1)
L1l -9 L & \&
._a . g -1 -2 -2

111 o -b b -5
Lﬁ L] e
| =3 -2 4 “b

1 -7 \ & -0
L N RV S ;te:(o L _
K™= Bx’ = Dx = Ix =T+ x-5 = x4
14, Factor completely.
a. 2x3 + 16

> 2
b.27x3-64 = (@x) — 1)
5)(\’( Lg)-&()(+9\> .

(Bx= D(AxT = 12% + &)

p—

— a(y+2)(x—-a\<+\+)

Scanned by CamScanner



